The space in and around a cubical box
(edge length L) is filled with a

constant uniform electric field,

E = Epy. What is the TOTAL electric

flux 555 E - dA through this closed

surface?

A.0

B. EgL?
C. 2E0L2
D.6EL?

E. We don't know p(r), so can't answer.



ANNOUNCEMENTS

e Starting to 'grade’ clickers on Monday!
e GRE Prep (SPS and WAMPS)
= Information on PA webpage
= First meeting: Wednesday 5-6pm in 1300 BPS



A positive point charge +¢ is placed outside a closed
cylindrical surface as shown. The closed surface consists of
the flat end caps (labeled A and B) and the curved side
surface (C). What is the sign of the electric flux through

surface C?
A
N do
a’ =
B (Side View)
A. positive
B. negative

C. zero

~ . 1 ° r



D. not enough Information given to decide

Let's get a better look at the side view.
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A positive point charge +¢ is placed outside a closed
cylindrical surface as shown. The closed surface consists of
the flat end caps (labeled A and B) and the curved side
surface (C). What is the sign of the electric flux through

surface C?
A
N do
a’ =
B (Side View)
A. positive
B. negative

C. zero

~ . 1 ° r



D. not enough Information given to decide

Which of the following two fields has zero divergence?
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A. Both do.

B. Only | is zero
C.Only Il'is zero

D. Neitheris zero
E.?7?



What is the divergence in the boxed region?

A. Zero 4
B. Not zero

C. 777 \
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Activity: For a the electric field of a point charge,

1
E(r) = c 7, compute V - E.
471'8() 7'2
Hint: The front fly leaf of Griffiths suggests that the we take:
1 o




Remember this?




